fcezur | Wit | /N2 Keview
P52
_. [2) /¥x ax4—<)+/°oc ficts) - ({(x s6x-3) b )/¥a ~ @b wb) Coioabi6h®)
=77 ;zx+| P T U 6 £ 7 = fa -‘{46+% ta™-2ab ¢ b7
= 1257123 H3 = 8o -Gab 1352
|3 (FS) 1) c)alat)’
| '=~3(23x"”-7?/c~20>6+ff\ ~&(Cz¢b)/4#$)
1‘3[93)<2*6‘1‘x +35‘L *éqwlo\/a hQavabJ)
=-Sr t0Tx S =aa’44a”hi2ab” + 9a%h jyabdsab’
=3 4607b 1 6gh” 1343
ko) ‘ibc()c &) ~3x/9x 5><+c\ £ hta) 1)~ () Uoek 1)
h £ Hx — G0+ 5K - 13X ‘/X‘;H)H-‘( ) an\ &»2)0%\( X FXX“@ +D3X+%)
-8l a3 i 1 (oo B A A o)
=x o =31 4o +4 = (% T 1o 32> rox t256)
69\ & H\K‘Syg = 23> 429 Y <252

l ic"’ﬁx SYX esx-3)

x e 3 mc?mx SK3X 15X 4G %a) .Qw' S psm’n® b X2 4k +20

<5193 -z 19 ~emn’Qntsm) 64 Yx-s )
)| 3K Sy vty o(’\ Sox- #2 ) UL+ | L‘> foata -3
S0cels)  =2(zx™%d < b= =(Sar3Ym-1)
=30ENXHSY < 2(Sx6XSyhe) = (3% )?
g4 ax’y 6y’ 19y L) ax O xF)alctd) c)xt3x - 0(73 5535 M58
‘—Qx%g (f-gﬁ,fﬂ(x) > (i) by t3) =leSYxtd)  =(oxe)3x-7) L j’j“
=3
e\) a1 D /M~n)a -Qmi3n) > BE x=mn, 4 =Om £31 /
@Yo r) = x7y?

~(a-2YarYa?r) = (k- uﬁ(xw\
i ﬁ*’l -/ —/ amw\\/ m-n +@m+3n3\

< (m-n-am=3n) (m-n t2m+m)

> (-m -4yn)(3m t2n)

==(m 4un)sm 1an)




i@ewew q/ Wf‘cﬂ \

pzl S
@ bk b 20d ek bh) Tty nd) gty
-sb lo X * 2 (a=2b) A
= 5b(2a°r3¢°) = X3 9 3-22%5) = Fa-ab) = (x=axt))
-5h 06 x> 2 (a-2b) (2¢-3) Ox43)
e (207137 = sy’-2etyy -3 S b gefretd
dest: b %0 2t x#0 fst: afb [ brsal 3k
P13
100) 3xXar ) 5y o) %2 = -@}%C* 3By xskte vy . XS
BI8K > _924 = ,§a\b v __/g_t_o X2 2y e
= 3% (k-1 / g;‘&Z nt = (x-3)(x-p) Sy Gt
20>-4x+3) =354 =2b é(-/)(xm (2 )(xtd) " e 5) "'
=3x(X-4)  Kxm yto 3c” = 3Nkt
ERRASE N 8 W = . 2 et 23,5
F(x=3)=0) R: b¥o,ct, a0 &-1)
fesf: x£3,1

130)

=
1 e y oy

=
He) x4 =Y X7 4 -12
4 1 _
= (¢ Y(y=1) ! O =21 Lp= (ki) (e YK'E\,

/+‘4 xtx® <

= 1= R0

() Get¢) (-0)(x3)
~(Y 1) e x = X-3 P
VA Sw’ 145 ‘M«Y yr!) OO Oe-1) (%3)
= QX—’“(
= o) % ) ieet() (=) (£-3) |
YA+ Refg#~1 o ) = 2(x-d) Rest: x# -4 1,3
gy u h # 7
= %l(x-1) X¥£0,~| Gew) (33 )
Z‘((ﬁﬂ\ -—3-§"‘£.~ X fi ei:p = (k>0Y ¥ 3q)
. | I ’SC> X046 T xMher })6) x*"hq:' B y:l-q\
l‘fo{) Y Skt Yo = bx 3¢ = oY yow L g(_f;MxH\
7 1 e [ —— S— e
* BNy~ (Ehets) fe-3)(-0 G () (x-g)edy (k) (K*"§"Ji)
= Ges)~ (x2) = b () = 3 (c2) o in
. = (K2R YCEFAN
() (43 ) Gele) (kY ) " ey gy
= - = G 3 Ho K
4 (300 (KR) G (x2) (x44) Kest: x# Ty oy -3y
’ 2 a7 o ¢
= 5 = 3XT436 % oy x(xfw)
Tve® 50 win. | G0 O3 Oe-3) Ge2) ()
- Ust: x 13,2 Rest: ¥ 3,2, -4




